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of & 890(87.7%) 1,899(90%) 1,789(75.6%)
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O Argd==oll Xt
- =2 20134 20144 20154
Al 380 380 390
o 4 230(60.5%) 230(60.5%) 240(61.5%)
g 4 150(39.5%) 150(39.5%) 150(38.5%)

xMEHs T2 F0H A

O a2
T =2 20134 20144 20154
Al 112,316 120,327 121,440
o 4 67.,980(60.5%) 72,829(60.5%) 72,264(59.5%)
g 4 44,335(39.5%) 47,497(39.5%) 49,176(40.5%)
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OIS S MSAIE 2l (L83 )

O MR
O AYSH @ 258 WAL H2LAAS S8 XS HSANL 23 T4
O AZDII2E + 20166012012 ~ 2016E 12831
O =F3N : HSALS S 0B 28 Y8 6%
O o & o : 603,660 &
XX 603,660 &
O AQUE : S HOESH AXHC &XSA
MRS PAHOESH A BN S
O A QIXI0 & CH&F AR
O H&AY RE
ClEFHZTAY SR AT I AY XX R S 3 A
O
O &2 CE R
R 04l & o SIEL=EJPNE HREY s2s
pl 603.660 110,000 493,660 | 448.78%
Ol &F S | 603,660 110,000 493,660 | 448.78%
KA TH & 603,660 110,000 493,660 | 448.78%
0 &g 2524
O ARTHA T (e9l © o)
2 2013 20144 2015
Al 60,046 60,067 59,373
o & 30,363(50.6%) 30,462(50.7%) 30,065(50.6%)
o 4 29,683(49. 4%) 29,605(49.3%) 29,308(49.4%)
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O At ==dll Xt (49 @A)
- = 20134 20144 20154
Al 8,961 10,054 8,897
o 4 3,025(33.8%) 3,245(32.3%) 3,036(34.1%)
g 4 5,936(66.2%) 6,809(67.7%) 5,861(65.9%)

*ZRASAL 08 o

O a2 (e &)
T =2 20134 20144 20154
Al 296,425 519,661 110,000
o 4 100,065(33.8%) 167,724(32.3%) 36,300(33%)
g 4 196, 360(66.2%) 351,936(67.7%) 73,700(67%)
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ct gUHIE0l UHE &= 2010 US. g4 00l d=ct= 2201 &0lotd AZXxE )10 #
Edle g2 8401 @2 #8.
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duSH(dUNEH) 20149 & H 20159 =3X 2016 ==X
SEM=E A od o8 3,2459¢ 3,036¢ 3,100€&
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HAGESXNSHAH 25 AFS (L BHS AH)
O AR
O AMgER : JIN, 8D S B5U2 0|25t 2128 AM3IE X0l ZRs IFAEHY BE5 2 A=
S =8 MHA M2
O AP DI2F @ 2015E01€01Y ~ 2019 12231Y
O FHZN @ HAEEXXNLY MO (KNAAMSESNMHL 2= 29)
O o &b <A 87,6708 &
JI28 X2 43,8358 2, MMM 43,8358 &
O ASUHE @ QIEAE A EE MHIA X
- dM2AY oEXY L MExd S
O HAolX & CHA A
O HAMAMYE 8%
HAEEHFAALY AEASEAHEIAY A Xl & XS 3HAF
O
0 AWM CEREED
Mg Ol AFH ME T S 0f AFoH Hws2t SLE
A 87,670 85,500 2,170 2.54%
ol A 87,670 85,500 2,170 2.54%
2= 43,835 42,750 1,085 2.54%
Xk A T & 43,835 42,750 1,085 2.54%
O d4¢ 564
O At OHAXH (&9 + H)
e 20134 20144 20154
H 6,291 6,013 6,000
o A 2,908(46.2%) 2,772(46.1%) 2,745(45.8%)
LM 3,383(53.8%) 3,241(53.9%) 3,255(54.3%)




MEALE D 9Ml ~18Al

O AMg=dlXt (&9 @ g)
T = 20134 20144 20154
Al 168 255 255
o A 59(35.1%) 98(38.4%) 98(38.4%)
g 4 109(64.9%) 157(61.6%) 157(61.6%)
*DEZ II(0ts) Ead
O olaa= (Ctel : =2
T 2 20134 20144 20154
Al 48,534 72,810 85,500
o o 17,045(35.1%) 27,667(38%) 32,859(38.4%)
g 4 31,489(64.9%) 45, 143(62%) 52,641(61.6%)
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